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= 5,600
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Al 3,920
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Ogals WM X KX 2,800
= 1,400
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= 1,155
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Al 809
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= 6,000
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= 8,185
< 2,455
Al 5,730
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Al 5,730
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Tue d

el |

fud

(8Y)

= N H = MW

=z N W

297,735

162,225
81,112
24,334
56,779
22,310
11,155

3,347
7,808

113,200
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33,159
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< 25,650
Al 59,850
O&t=Edlst elgins & Hot 4,879
MNEHZ0H LT 495,440 402,521 92,919
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= 191,093
< 85,992
Al 200,649
04 DI Z2XREE S 477,734 387,762 89,972
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Ot=0E & MHR =N 2,880
= 1,152
< 518
Al 1,210
ASNSHA 2E L 2 (X2) 407,800 7,800 400,000
= 163,120
= 73,404
Al 171,276
201 et 7,800 7,800 0
= 3,120
< 1,404
Al 3,276
02 =24l 7,800 7,800 0
QLS AR 2| AIAE SAIHI(60CH) 7,800
= 3,120
< 1,404
Al 3,276
401 A& HIZ 201 Y] 400,000 0 400,000
= 160,000
< 72,000
Al 168,000
01 A& HI 378,000 0 378,000
Od2d Xl K24 &4 378,000
= 151,200
< 68,040
Al 158,760
02 Zeltl 22,000 0 22,000
Out= YA XNJHEH & Zeldl 22,000
= 8,800
< 3,960
Al 9,240
MY F AL 2 905,356 430,486 474,870
s 300,000
S 90,000
Al 515,356
Aosedy 29 22 305,356 345,486 A40,130
201 ¢er24l 232,270 228,430 3,840
01 At 2t 2l 79,070 78,830 240
OAtS 2teltl 23,080
oL S(2d)0I8Z 50,0008 » 12901 600
CIHEZFHFE 120,000& * 12013 1,440
osdZ HHl &l 2xt 660,000& = 63l 3,960
o=RA Xz 4,000
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SA - BB B () - MM - BES Ol &t o San HmEET
oSEI F2E MEE &HH X2
600,000& = 53| 3,000
odAJ|dExm 60,000& = 201 = 12JH& 1,440
cUXI22H 60,0003 = 28 » g2 7,440
o ROIAFBIAAE RXl2e
100,000& » 12& 1,200
O&AZHU SFAIAE FXI 22
200,000& = 123 2,400
O&Jletd el f&x==2  420,000& * 128 5,040
O2=Xel I8s22 1,100,000& = 12&8 13,200
OMBRA £222F8 P2 100,000& * 128 1,200
OUA2Y 2235 Y 1,700,000& = 12&8 20,400
OAUAHIXE =H P2 2,500& » 500& 1,250
OAAHIXE 727 +¢ 250,000 * 50= 12,500
02 =24l 153,200 149,600 3,600
O=32gHl 153,200
cdMIIRB 6,500,000& * 123 78,000
oMot ERS 2,500,000& = 12& 30,000
c¥IX FHFE 600,000 * 5J0f A 3,000
ocEANMERLG S (NSE) 50,0008 * 23 100
o Xt R FHl 350,000& * 123 4,200
cJtAdHZH| 1,750,000& * 123/ 21,000
o A=K X 1,200,000& = 123/ 14,400
c1EXE FAXAdl 300,000& = 53] 1,500
o M&ZEbEl =clyl 1,000,000& * 13l 1,000
202 O4dl 1,296 1,296 0
01 = LH o4 Hi 1,296 1,296 0
sdd e gRFA
81,000& » 2 * 2& * 43 1,296
206 M= Hl 10,750 8,750 2,000
01 24l 10,750 8,750 2,000
OSE)I| WEE UMY (Asiza)
15,0002 * 50 750
OAMEE HES> I ¢
1,000,000& * 102l 10,000
401 Al HI K 201 I 42,000 36,000 6,000
01 A& HI 42,000 36,000 6,000
OHXI & sS4tz QHLHEHEHI 6,000
OF2E NE=2 RAEF=SA
5,000,000& = 34l 15,000
Os2d 2ots EXISA 3,500,000 * 6= 21,000
405 XtatE SHI 19,040 19,040 0
01 AR ESFH S 19,040 19,040 0
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OXHAE TVLH 450,000& = 504 2,250
OXHAME I3 HIZ LA 400,000& = 1504 6,000
OAWAE MIIL&E(1028,508)
150,000 * 7H 1,050
OFSDIRSE 330,000& = 7CH 2,310
ONEIl ¢ 2,000
O&#AJ| 2Y 150,000& * 604 900
Ooul=27 #+¢ 330
HeEUY x4 600,000 600,000
o 300,000
S 90,000
Al 210,000
401 Al Bl 28I 600,000 600,000
s 300,000
< 90,000
Al 210,000
01 A& HI 586,260 586,260
OXes2de 24 (=52% 38) 586,260
s 293,130
= 87,939
Al 205,191
02 2eltl 9,960 9,960
O sdd =4 Zeldl
600,000,000& * 1.66% 9,960
s 4,980
< 1,494
Al 3,486
03 Al 2 0HHI 3,780 3,780
O sdd =4 R0l
600,000,000& * 0.63% 3,780
s 1,890
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Al 1,323
HE2IZH (sFHE D) 233,860 24,118
I (=sF A& nt) 184,537 20,279
ol 2| 184,537 20,279
101 14l 184,537 20,279
03 RIAHAZZ2HE = 184,537 20,279
Osdgac 22k B+ 149,158
cllgz(szard 57,308
123 1,437,170 » 1H » 128 17,247
-Ns= 1,521,700& » 1H 128 18,261
-5 = 1,816,620% * 1€ * 123 21,800
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cELHRRY 50,0003 = 3H » 123 1,800
oXHIEHSE 150,000& = 3H = 12& 5,400
o E+g 90,000& = 3H » 123 3,240
o Z UG AH| 120,000& = 3H = 12& 4,320
< JHH 2 X4l 80,000& = 3H » 123 2,880
cXRag 110,000& = 3H » 12& 3,960
o B A FOHI 57,308,000& * 1/12 % 120% 5,731
CcHIIRSFIIH=TE 5,507
158 94,080 * 18 1,694
-1s= 98,4003 18 1,772
-265 8 113,360& » 18 2,041
o Al2tel =g 6,881
123 17,6403 = 18 = 10AI2 » 123 2,117
-1s= 18,4503 = 1H » 10AI2H » 123 2,214
258 21,2503 = 1% = 10AI2F = 128 2,550
ocsdd 152,907& » 3H » 62 » 128 33,028
OsdReE 22X B 35,379
cll2s (HFARE, 7188)
1,424,370 » 1H » 128 17,093
o3 1,424,370 = 18 * 400% 5,698
oM ATHSH 150,000& = 1H = 123 1,800
o Z UG A 120,000& = 1H = 12& 1,440
ol 150,000& = 1H = 123 1,800
oA 110,000& = 1H = 12& 1,320
cltE¢ 240,000& * 1H » 123 2,880
o H A F O 1,424,370 » 1F * 120% 1,710
cHXRSFIH=E 90,960 » 1H » 18¥ 1,638
JlEZ3l 49,323 45,484 3,839
JlE2ztl 49,323 45,484 3,839
201 L2l 37,055 33,816 3,239
01 A2 2218l 30,455 29,856 599
ORA2Y JIE23H 4,200
os3J|= 250,000& = 12& 3,000
oltHF2E 100,000& » 12& 1,200
OMRES FY(SMA, BFS) 3,600
oz=&J| = 200,000& = 12& 2,400
oltHF e 100,000& * 12& 1,200
OHZARINI 428 7¢ 6,600
o=&J|E 300,000& = 504 = 23l 3,000
ostRES 300,000& = 104 = 23| 600
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2AN: s
M. HMSAAH (sHAZ )
@2 Jl2&tl (e &)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
o FMAE 300,000 = 1CH = 23 600
o=l &2 300,000 * 2CH * 23] 1,200
SR =R 300,000 = 2CH = 23 1,200
O8I &tz 49,9003 * 104 = 12& 599
OZ2 &l 15,456
oz=8J|= 8,000 * 23Y * 7 * 12& 15,456
02 352494l 6,600 3,960 2,640
oREe2 550,000& * 12& 6,600
202 04 b 7,468 7,468 0
01 2LHHI 2,500 2,500 0
OblazZ222 WA 4l 2,500
02 MY 4,968 4,968 0
OXKAMSBSHI| FHNHI
138,000 = 3¥ x 12& 4,968
203 € R =&Y| 4,800 4,200 600
04 ENSIHRF=EY| 4,800 4,200 600
ORNM2gI2F&Y| 400,000 = 12& 4,800
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